Brackets with surds

Multiply and simplify,

1)

2)

3)

4)

5)

6)

7)

8)

9)

(3V2 + 243)(4/6 + 24/3)
(4 +3y5)(3y3 + 2)
(3v/6 + 4+/3)(3/7 + 4/6)
(5N7 +3)(3y/6 + 3)
(3v5 + 5+/2)(24/2 + 2+/6)
(3 +5+3)(443 + 4)
(243 + 2+/2)(5+/6 + 5/6)
(35 + 5)(5 + 3+/3)
(442 + 3/6)(2/6 + 3+/2)

10) (56 + 24/2)(3+/3 + 54/3)
11) (2 + 3+/2)(2y/5 + 5)
12) (4/6 + 3+/2)(3+/5 + 31/7)
13) (3/6 + 2)(54/7 + 5)
14) (443 + 342)(5\7 + 24/2)

15) (44/3 + 3)(4 + 4+/6)
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Brackets with surds

1)
2)
3)
4)
5)
6)
7)
8)

9)

(342 + 2+/3)(4+/6 + 24/3) = 8118 + 12/12 + 4+/9 + 6~/6
=242 + 24~[3 + 12 + 6+/6

(4 + 34/5)(3\3 + 2) =8 + 61/5 + 12+/3 + 94/15

=8 + 64/5 + 124/3 + 94/15

(31/6 + 44/3)(31[7 + 4+/6) = 16~/18 + 12+/36 + 12+/21 + 9+/42
=48~[2 + 72 + 12~/21 + 9442

(57 + 3)(34/6 + 3) = 9 + 154/7 + 9/6 + 15+/42

=9 + 15+/7 + 9/6 + 15+/42

(34/5 + 54/2)(24/2 + 24/6) = 64/10 + 10~/4 + 64/30 + 10~/12

=6+/10 + 20 + 6~/30 + 20~/3

(3 + 5+/3)(4+/3 + 4) = 12 + 20-/3 + 1243 + 20~/9
=72 + 3243

(2+/3 + 24/2)(5+/6 + 51/6) = 10/18 + 10+/12 + 10~/18 + 10412

=60+/2 + 4043

(3+/5 + 5)(5 + 3+/3) = 25 + 154/5 + 15+/3 + 9415

=25 + 15+/5 + 15+/3 + 94/15

(44/2 + 3+/6)(2/6 + 3+/2) = 94/12 + 12+/4 + 6+/36 + 8+/12

=34+/3 + 60

10) (5+/6 + 2+/2)(34/3 + 54/3) = 254/18 + 10~/6 + 15+/18 + 6~/6

=120+/2 + 16+/6

11) (2 + 34/2)(2+/5 + 5) = 10 + 154/2 + 44/5 + 6+/10

=10 + 15+/2 + 4+/5 + 6+/10

12) (446 + 34/2)(31/5 + 3+/7) = 9/14 + 12~/42 + 9+/10 + 12+/30

=94/14 + 12+/42 + 9+/10 + 12+/30

13) (36 + 2)(5~/7 + 5) = 10 + 1546 + 107 + 154/42

=10 + 1546 + 10~/7 + 15+/42

14) (44/3 + 3+/2)(5A\[7 + 2+/2) = 6+/4 + 84/6 + 15+/14 + 20421

=12 + 846 + 154/14 + 20+/21

15) (443 + 3)(4 + 4+/6) = 12 + 16+/3 + 121/6 + 16+/18

=12 + 16+/3 + 12+/6 + 4842
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